UGH75
Uphill Grout Hog®
Owner’s Manual

Serial Number

Before using this Grout Hog®,
study and understand entire
Owner’s Manual.

@

N WARNINGS

1. The Grout Hog® is a material delivery system and is
not intended for any other use.

2. Make sure anyone operating the Grout Hog® is thor-
oughly familiar with its operation. Keep all unauthorized
and untrained personnel, especially children, away from
Grout Hog®.

A\

3. Consult forklift manufacturer’s specifications to insure
load capacity is not exceeded.

Model Empty Weight | Max. Gross Weight
UGH75 [1055Ibs. (478.5kg)| 4055 Ibs.(1839.3 kg)
Do not exceed Maximum Gross Weight

4. Always use skid pins and linch pins or safety chains
whenever Grout Hog® is on lift forks.

5. Never run machine with end cap removed.

6. Warning: ToAvoid Injury or Death

When using the Grout Hog® on a forklift that has a mul-
tifunction joystick (one that requires the operator to hold
button and move joystick to engage auxiliary hydraulics)
be sure you plumb forward rotation of the auger on boom
upside of control. This is to eliminate the chance of the
boom dropping in the event the operator would release
the button with the joystick still engaged.

7. Stay clear of auger while machine is running. Keep all
body parts, solid objects, clothing, and jewelry away from
all moving parts.

8. Always confirm spring loaded Pivot Latch has hopper
securely locked before using or cleaning.

9. Avoid breathing exhaust gasses and dust produced
while using the Grout Hog®.

Warning: California - Proposition 65 Warning

Engine exhaust and some of its constituents, and some dust created by
power sanding, sawing, grinding, drilling, and other construction activities
contains chemicals known to the State of California to cause cancer, birth
defects and other reproductive harm. Some examples of these chemicals
are: Lead from lead based paints - Crystalline silica from bricks -Cement
and other masonry products -Arsenic and chromium from chemically
treated lumber.Your risk from these exposures varies, depending on how
often you do this type of work. To reduce your exposure to these
chemicals: ALWAY'S work in a well ventilated area, and work with
approved safety equipment, such as dust masks that are specially designed
to filter out microscopic particles.

A\

10. Never perform any work on the Grout Hog®
while it is running. Before working on the Grout
Hog®, stop the forklift and disconnect the hydrau-
lic hoses to prevent accidental starting.

11. Avoid contact with hot hydraulic fluid. Allow
system to cool before performing any repairs or
services.

12. Never stand under an elevated Grout Hog®.
13. Never ride the Grout Hog®.

14. Never operate the Grout Hog® under the
influence of alcohol, drugs, or medications.

15. Use only factory authorized parts.

16. Inspect all hoses for nicks, cuts or damage
before each use. Replace if damaged.

17. Only lift Grout Hog® from lifting channels or
crane bail if equipped.

18. Always wear approved safety glasses, hearing
protection (112 dBA), and hard hats when
operating or servicing a Grout Hog®.

19. The Grout Hog® is intended for use with a su-
pervised hold to run control. If used outside of this
scope call the EZ Grout Corporation for optional
grate to cover hopper.

20. Do not use the Grout Hog® as a lifting device.
21. The disposal of used lubricants or hazardous

materials must comply with all governmental, na-
tional and local, regulations.

- Grout Hag@
Grout Delivery System
EZ Grout Corporation

EZ Grout Corporation

405 Watertown Road

Waterford, Ohio 45786

(740) 749-3512 or 1-800-417-9272

Fax (740) 749-0602 www.ezgrout.com



Setup
1. Bolt spring loaded tugpole to hopper.

2. Adapt auxiliary hydraulic quick couplings on fork lift to the
hydraulic quick couplings on Grout Hog® to make a match set.
(Grout Hog® requires 1350 PSI at 8 gallons per minute minimum
and 3000 PSI at 18 gallons per minute maximum) 12 gallons per
minute is best and should unload 3/4 yard of grout in less than 3
minutes.

Operating Instructions
1. Rotate hopper to upright position.

Warning: Verify spring loaded Pivot Latch has hopper securely
locked before operating.

2. Slide lift forks into lifting channels on Grout Hog®

3. Insert skid pins into lift channels behind lift forks and secure
with locking pins or use chain attachment.

4. Attach Grout Hog’s quick connect hydraulic hoses to forklift.

Warning: To Avoid Injury or Death When using the Grout Hog®
on a forklift that has a multifunction joystick (one that requires the
operator to hold button and move joystick to engage auxiliary
hydraulics) be sure you plumb forward rotation of auger on boom
upside of control. This is to eliminate the chance of the boom
dropping in the event the operator would release the button with
the joystick still engaged.

5. Set Grout Hog® securely on ground. Fill to desired
capacity.

CAUTION: check forklift or crane manufacturer’s
specifications to be sure forklift or crane is designed to handle
weight of Grout Hog® and material in hopper.

Model Empty Weight Max. Gross Weight

UGH75 | 1055 Ibs. (478.5 kg) | 4055Ibs.(1839.3 kg)

EZ Grout Corporation

Do not exceed Maximum Gross Weight

6. Transport Grout Hog® to desired location and raise
above grouting level.

7. Hold discharge hose over area to be grouted.

8. Signal forklift operator to start forward rotation of Grout Hog®
auger, using hydraulic controls.

9. Discharge grout to desired areas until hopper is empty. (Repeat
steps 5-9 as needed.)

10. To regulate grout flow, squeeze discharge hose; to momentarily
stop grout flow, crimp or fold hose.

11. To stop grout flow for extended period, signal forklift
operator to stop auger rotation.

12. When Grout Hog® is not in use, store with ends of hydraulic

hoses plugged into storage couplings on Grout Hog®. This will
avoid pressure build up in hoses, usually occurring in hot sun.

1-800-417-9272

www.ezgrout.com

Note: When not in use, store Grout Hog® in tilted position with
end cap removed to prevent water from accumulating in the hopper.

Cleanup

1. Set Grout Hog® firmly on level ground. Turn off forklift and
remove ignition key. Disconnect hydraulic hoses. Remove skid pins
or chain before backing away.

2. Pull spring loaded locking pin on side of hopper and rotate over
the release bracket.

3. Firmly grasp the Secondary Pivot Latch Handle, pull to unlock,
and lift to dump hopper.

Warning: Verify spring loaded Pivot Latch has hopper securely
locked before cleaning.

4. Remove end cap with provided speed wrench. Firmly grasp
auger handle and pull auger out of tube.

5.Wash out and brush down tube, hopper, auger, and end cap.
Note: Be sure to clean all debris from inside the auger drive end.
6. Flush hose until clean.

7. Slide auger back into place over the power shaft connector.
Replace end cap on tube.

8. Pull locking pin and rotate hopper to the upright position.

Maintenance
1. Make sure Grout Hog® is clean after each use (see “Cleanup”).

2. Grease fittings before each use. Use EPI GC-LB Rated or
equivalent grease.

NOTE: Following each use, it is a good idea to apply a thin layer
of lubricant inside the hopper to make cleaning easier. CAUTION:
Do not use so much lubricant that it might stain blockwork at
beginning of next use. If equipped with crane bail inspect bail,
hopper, and base for cracked welds, loose bolts, and wear before
each use. Repair or replace if needed.

Obtaining Spare Parts
Spare parts for your Grout Hog® may be obtained by the
following procedure:

1. Record the information from the serial number tag located on the
lower right rear side of your Grout Hog®

2. Using the parts reference table in this manual, record part
number and component.

3. Contact your local Grout Hog® dealer or EZ Grout Corpora-
tion at 800-417-9272 with the information in Steps 1 and 2.

Warning Decals - for your safety and the safety of others, replace
any damaged or missing decals by contacting the manufacturer at
800-417-9272.

Revision Number- 005 10-22-2007 - Present



ITEM{PART NUMBER | QTY | DESCRIPTION ITEM|{PART NUMBER |QTY | DESCRIPTION ITEM|PART NUMBER |QTY | DESCRIPTION
1 UGH-A-10 1 | Auger 14 UGH-A-12 1 End Cap With Bushing 27A 09-407 2 | 5/16" Latch Pin
2 11-119 1 | Grease Gun 14A 15-145 1 End Cap Bushing (1 11/16" ID) || 28 09-213 1 1" Nylon Lock Nut
3 GH-A-6 1 Speed Wrench 15 12-100 2 | Hose Clamp 29 15-109 4 | Cam Roller
4 11-108 1 | Cleaning Brush 16 | GH-A-27 1 | Discharge Hose Jissv. 30 | 09-319 4 |5/8"x2 3/4" Bolt
5 GH-521 2 | Skid Pin 16A 20-100 1 | Grab Handle 31 09-210 4 | 5/8" Nylon Lock Nut
5A 09-400 2 | 1/4" Linch Pin 17 13-102 1 | Rubber Control Disc 32 GH-A-2 1 | Skid Base
6 20-102 1 [ Tugpole 18 09-310 4 |3/8"-16 x 1 1/4" Bolt 33 09-329 2 | 3/4"x1 1/2" GR8 Bolt
10 UGH-A-11 1 | Removable Auger Tube 19 09-204 16 | 3/8"-16 Nylon Lock Nut 34 09-113 2 | 3/4" lock Washer
11 09-206 2 | 3/8"-16 Square Nut 20 UGH-11 2 | Hopper Pivot Stop 35 09-388 2 | 1/4"-20 x 3" bolt
11A 09-102 6 | 3/8" Lock Washer 21 UGH-A-1 1 | Hopper Pivot Base 36 09-200 2 | 1/4"-20 Lock Nut
12 09-214 6 | 3/8"-16 Flange Nut 22 09-421 2 | 1/4"x1 3/8" Roll Pin 37 UGH-A-13 2 | Hopper Pivot Pin
13 09-339 6 | 3/8"-16x2" All Thread Bolt|| 23 09-812 1 Latch Spring 38 UGH-A-2 1 Hopper
UGH-8 1 | Latch Retaining Plate 39 09-305 4 |5/16"-18x2" Bolt
09-301 3 | 1/4"-20x1" Bolt 39A 09-104 8 | 1/4" Flat Washer
UGH-A-7 1 | Pivot Latch 40 GH-27 1 | Inner Seal Support Ring
09-327 1"x8" GR8 Bolt 41 13-116 3 | Urethane Seal
42 GH-17 2 | Spacer Ring
43 GH-18 1 | Outer Seal Support Ring
44 09-202 4 |5/16"-18 Nylon Lock Nut
45 GH-A-25 1 | Power Shaft Connector
46 GH-A-26 1 Rear Seal Kit (Includes (4) 09-305,
(1) GH-27, (3) 13-116, (2) GH-17,
(1) GH-18, (4) 09-202,
(1) GH-A-25, (8) 09-104)
47 GH-A-13 1 Motor Plate
48 13-115 1 | Dust Seal
49 09-308 12 | 3/8"-16x1 1/2" Bolt
50 02-415 1 Hydraulic Motor
51 02-602 1 | Manifold w/ Relief Valve
52 09-338 4 |5/16"-18 x 2" SHCS
52A 09-101 4 |5/16" Lock Washer
54 GH-A-40 1 Brake Pin Assembly
55 GH-A-22 2 | Hydraulic Supply Hose
56 02-219 2 | Male Coupler
57 02-218 2 | Female Coupler
58 02-634 1 Relief Cartridge
59 UGH-23 1 Hydraulic Motor Guard
63 09-361 2 | 3/8" Shoulder Bolt
64 09-813 2 | Compression Spring
65 UGPH-A-9 1 Secondary Pivot Latch Handle
66 09-216 2 | 5/16" Barrel Nut
67 09-105 14 | 5/16" Flat Washer

UGH75 GROUT HOG® - FRAME

3

Revision Number- 005 10-22-2007 - Present

www.ezgrout.com

1-800-417-9272

EZ Grout Corporation



Grout Hog ® Troubleshooting Guide

Symptom Potential Cause Possible Solution
Auger will not turn Hydraulic fluid restriction Make sure quick connect couplings are match sets
Hard concrete around auger Clean auger
Ice in hopper Clean hopper
Discharge hose plugged Clean hose
Auger turns momentarily then stops Hydraulic fluid restrictions Make sure quick connect couplings are match sets
Hopper unloading slowly Hydraulic fluid restriction Make sure quick connect couplings are match sets
In adequate fluid flow at port Check fluid to ensure 8 G.P.M minimum (3/4 yard of grout in the
hopper should unload in 2 to 3 minutes at 12 G.P.M.)
Discharge hose kinked Lift hopper to higher elevation
Discharge hose damaged Replace discharge hose
Auger turning in reverse Move hydraulic control lever on forklift into forward
Auger worn Replace auger
Concrete leaking from back of machine Continuous use with lack of grease Replace seal kit on back of hopper
Trouble getting quick connect couplers to |Built up pressure on forklift hydraulics Shutoff engine on forklift. Turn key to “On” position and move
couple together hydraulic control lever back and forth.
Built up pressure on hydraulic lines from heat When not in use, lines must be coupled back on storage fittings of
Grout Hog to avoid pressure build up.
Quick Couplings are not a match set Change Quick Couplings to matched set
Built up pressure on Hydraulic lines Purchase & install connect under pressure couplings
Hopper is difficult to swivel by Lack of Grease Grease spindle
pulling on discharge hose Faulty support rollers Replace support rollers

Warning labels/location on Grout Hog machines

A DANGER

Never run

machine
with end cap
removed.

End Cap Label: located
on discharge snout

A NN A WARNING

in place whenever
Grout Hog is on lift forks.

1) Grout Hog's o maoteial deivery system. Not infendied for any other use.
2 @\ Before usng Grout Hog: revewhe enfre Owner's Monual,

3) Keep unauthorized and unirained personnel, especialy chicren, away flom Grout Hog .

Pin Label IOCated 4) %m&momnemnmocwss%tﬂag \nwmrevg"b(édccpor%m/snma@eeded
ins M in place whenever is on Weig ifications are:
on Fork Pockets Model Emply Weight Gross Weight

Large Multi 5) Do not use cs a lfing device

A WARNING!

1) Pinch point. Keep hands clear.

" 2) Stay clear moving parts while
machine is in operation.
3) Keep all body parts, solid objects,

clothing, and jewelry away from
moving parts and hinges.

Pinch Label: located
on back of hydraulic motor
guard.

Limited Warranty

. 6) 9 Aways wear hard-hat, eye protection, & hearing protection whie in use.
ADANGER Warnlng 7) Never stand under or fide on EmutHug,
apel: 8) Never opercie @raut Hog uncer he influence of ciugs or dcohol.
Label
. |Ocated on 9) A Never un machine with end cap removed.
10) 8\  Lock out power supply & cllow systern fo cool before working on Grout Hog
ackK o
'ﬂa ‘\v_\ﬁ‘ hopper H]A Keepoumpcmwuoqemcmm&;ewewmmmm\
AIPUTATONHAZARD g T S A T e
ROTATING AUGER. & distorions.
Keep hands and body
A ATTENTION
1) Grout Hog shoud uniood in kess thon thiee minutes (f run continuously). Please
check quick Connect couplings and refer to owner's manual.
Amputation Label: 2) ifings must be grecsed before each Lse
located on back of hopper 9) Auger mist be femoved foreffece cleaning.

4) Use only factory auhorzed pas

The manufacturer warrants that products manufactured shall be free from defects Warranty or the description herein contained, is at its option (a) to repair, replace, or
in material and workmanship that develop under normal use for a period of one refund such product or parts upon the prepaid return there of to location designated
year on all products from the date of shipment. The foregoing shall be the specifically by the Manufacturer. Product returns not shipped prepaid will be refused
exclusive remedy of the buyer and the exclusive liability of the manufacturer. Our  (b) As an alternative to the foregoing modes of settlement - the Manufacturer’s dealer
warranty excludes normal replaceable wear items, i.e. gaskets, wear parts, seals, may repair defective units with reimbursement for expenses. A written description of

O-rings, belts, drive chains, clutches, etc.

Any equipment, part or product which problem or cause must accompany all warranty claims.

is furnished by the manufacturer but manufactured by another, bears only the

warranty given by such other manufacturer. (Manufacturer agrees to furnish free Except as set forth here in above and without limitation of the above, there are no
of charge a written description of problem or cause.) Warranty is voided by warranties or other affirmation which extend beyond the description of the products
product abuse, alterations, use of equipment in applications for which it was not on the fact here of, or as to operational efficiency, product reliability, or maintainabil-
intended, use of non-manufacturer parts, or failure to follow documented service ity or compatibility with products furnished by others. In no event, whether as a result
instructions. The foregoing warranty is exclusive of all other warranties whether of breach of contract or warranty or alleged negligence, shall the Manufacturer, be
written or oral, expressed or implied. No warranty of merchantability or fitness liable for special or consequential damages including but not limited to: Loss of profits
for a particular purpose shall apply. The agents, dealers, and employees of Manu- or revenue, loss of use of the product or any associated product, cost of capital, cost of
facturer are not authorized to make modifications to this warranty, or additional substitute products, facilities or services or claims of customers. Manufacturer does not
warranties binding on the Manufacturer. Therefore, additional statements, whether assume responsibility for any accident due to equipment modification.

oral or written, do not constitute warranty and should not be relied upon.

No claim will be allowed for products lost or damaged in transit. Such claims should be

The Manufacturer’s sole responsibility for any breach of the foregoing warranty filed with the carrier within fifteen days. Effective July 20, 2005
provisions, with respect to any product or part not conforming to the

4 EZ Grout Corporation

1-800-417-9272 www.ezgrout.com Revision Number- 005 10-22-2007 - Present



a1uasaid 1o DISDE — /()0 2P 24GN120 ap 77 GO() — UOISIA2L P 02w WO INOISZI MMM  TLZ6-LIH-008-1 uonerodio) ynoio 7y

$00¢ p o1l ap o [op 1nied € NUITIA

‘serp odunb op ozeyd un ap onuap eysnIodsuen [0 gjue Jejuesard ueroqop os

14

12 “@uasaxd e[ ud epmjour uorddiosap ey o enuered ey uod ejdwnd ou anb ezaid o ojonpoid

SOWEB[OI SR, “0}ISULI]} U SOPBUEP 0 SopeIAenxd sojonpoid tod owreldar unduru eieydose as oN

‘odinba [e sauoroROYIpOW B OPIQIP SAJUIPIOIE
1od pepijiqesuodsar eun3uru SWNSe OU 9JULBILIGR] [ "SAIUII[O AP SOUOIOBWIR[IAI O SOIIIAIIS O
sauorde[eisul ‘ozejdwaal ap sojonpold op 01509 ‘Terdes ap 03509 ‘operdose oonpoid rombreno
0 010npoud [9p UQIdBZI[INUI ‘SOSAITUI AP BPIPIYd 0 9JUESID 0ION] ;B UBIIWI] 3S OU 019d usAnyour
anb ‘sojoaa1pur o saeroadsa souep ap 9qesuodsar e1ds duedniqe] 2 ‘erouddi3ou eysondns 1od
0 BMJUBIES B] 9P 0 0JBNUOJ [9p OJUAIWI[dWNOUT UN 3P OPBINSII OWOD BIS BA ‘0SBI UNIUIU Ug
‘sojuedLIqe) sono Jod sopensiuruns sojonpoid uod peprjiqredwod w ojonpoid [op ojudi
-TUSJUBW O PEPI[IQRYUOD ZBIYS OJUSIWERUOIOUN] & 0309dsal uod 1u ‘duasaid e[ ua epmpour
sojonpoid sof op uorodLIosap e[ 9p [2 anb 10Aew douRd[B UOD SOSIWOIdWOD O SenueIes Seno
BIQRY OU ‘SBWISIUI SB[ B 9SIB)IWI] UIS A 9jusuLIondue sependnsa sauororsodsip sey 1od oydooxyg

“BSNB B[ O B[] B[ 9p 0111953 Jod ugrodLosap gun JMJoul UpIdqap enueres e
Jod S01I21qND SOWB[I2I SO SOPO], S0)seS SOf J0d 0S[0qUISAI U0I SESON}ORJAP sapeprun sef Jeredar
opand ojuedLIqR] [9p IOPINGLUSIP [9 ‘OPIANJ. P SIPELPI[EPOUI SIIOLIAUE SB| B BAIJRUIDNE OWOD
(q) & opezeyoar eias opededaid p1od urs 03janadp ojonpoid |7 ojuesuqe; 19 1od uawesyroadse
opeudisap 1e3n] [e - opededard a)10d — 03jonadp ©as anb zoa eun ezard o ojonpoid oyo1p ap oroaxd
[2 1esjoquuaas o rezejdwoal ‘reredar () op uorodo e] pepijiqesuodsal eo1un Owod LIpUL) AUedLIqe]

“ajueoLge) [0 Jod sepezuoine sezaid 0[os 2d11IN
eA0B}o BIaUBW Op BZa1dWI| B Jezijeal eled JBUIWIIS 9GOp 8S BUBLIE] €T
‘0sn epeo ap sajue asieselbus uagap saiopejdepe so

“ouejaidoud jop

Jenuew [0 8}nsuoo A epidel UGIXaUCO ap SaId09E SO] JESINGI BSBAIIS “(NURUOD EIBUBWI
P BUOJoUN] IS) SOINUILL SB1} 3P SOUBW U3 JeBIEosap aap IRy 2MO.AE eunbew e

(v
(e
(e

(

NOION3LY V¥

SajeUED SO| A UQIVEABIS B OJUNd “UOIOBAIS 8P SOYOUED ‘SEIOPEZEIqE ‘SEINpEp|OS Se| US
SBUOISIOISIP O OAISB0X® B}seBsap ‘SejaLIb eAey ou anb ap ajusLWELIEIp 85ainBasy "enb
€] 9p OUUE [0 0 UOIOEAS]S 8P SB[EUED SO Jod 01oS Y PO BUINbEw e| BjUers]

euinbe e p oJuUaILINOW UB Sezaid Se| op seAol
0 ysen ap sepuaid 'sopyos sojelqo ‘odJand (ap saLied sej sepo} sepefoje eBUUEN

’ﬁalg 2N eunbew e| us Jeleqes
op SeIUE Q1S 35 BWBISIS [0 aNb B1op A E1AUS 3P GASIILING 16 1ooUCoSea

‘Jeunue} ugdey o s eubpu e seuojouny ebey eoun G

seBoup se| 0 |oyooje
op S0j08}@ SOj ofeeq 218 pajsn senuelw FEY FMOAEY eUNbEW e| (2 Uod Bleqe) BN

‘Bopy 3n0.15 eunbew e| us opejuow oe(dsep 8 0 ofeqap anbojod 8s BIUNN
‘euinbew e| ez)jan sejualw sopio A sofo so| ered ugoajoid ‘00sed Un BidwalS BN
“ugienale ap ojesede Un owod euibew e 3d1jAN ON
ojniq osad OJ9BA US 0S3d ojapo
wuos osad ap sauoioEOyads e ‘sebieoejuow
op sejinbioy se| us anuenous os fig, @1 BuINDEU B OPUEND OIS NS UB
Je1sa Uagap sefinefo se “eieo ap pepioedeo & Jopaoxa ou ap asieinbase esed
b | ap 0 efinbioy op SeBIedelUOL 9P BUBDLIGE) [9p SSUOEIIDAASS Se] BNSUCD
‘Bopy 3N eunbeuw e 5p souEdfe [9p SOPEIS[E 'SOU SO SJUBWIEadSS
‘SEpezLIojNE ou seuosiad se| e A opejoeded ou [euosiad 2 0po} e eBusjuel

-
ouejeldoud [op [enuews [0 opo} eseda! B FMGAE eunbew e [0 Jesn op sajuy ()

‘osn onjo
unBuiu esed opeyasip e}se ON [eUsiew ap e1eosap ap eWalsIs un sa BO 2O

4

(e
[t4

iVIONLHIAQY!

Jornbyens e v10adsaranb o] us ‘enueIeS €)se op sauordIsodsip se| op ojudruIdwnouI 9p 0Sed U

‘[B} OWOD JSILIOPISUOD 2qap ou A eunJ[e enuesed 9Anjsuod ou

‘[eQI9A O B)LIOSI BIS ‘[RUOIDIPL UQ

UOIOBJUSWINOOP B[ U SLPEOIPUL S

10BIR[9p JoInbend ‘ojue) 104 9uedLIqe] [e anJ1jqo anb

BMJUBIES BNO BPUNSUIU U ‘@lJURIES ]SO JROYIpowW Ied SOPRZLIOINE UP)SS OU dJUBILIqR]
1op sopeajdwa £ sa1opmquusip ‘soyuade so ‘0oy19adss 0y1sodord un ered peprouopr o
UQIOBZI[RIOIOWIO) 9P BIURIES BUNFUIU ZOPI[BA BIPUD) ON “SeIoI[dul 0 Sesa1dxa ‘sa[eqron
0 SEJLIOSD URDS ‘SeljuBIeS SLWOp S| Sepo) 2AN[oXa eljueIes vlsy ojudrwiudjuew 2 exed

QuoroonIsur sef op ojudrwrdwnour o sjuedLIqey [0 Jod

sepedIpul se| & sejunsip sezord op osn ‘opeuasip 9)so ou anb sef ered sauoroeorde uo
OpIQapUI 0SN ‘SAUOIIRIA)E ‘Ojen[ew p 032[qo eas odmba [2 anb op osed us 030950 uls
e1repanb enueres e ‘(esned o ewd[qoid [9p 031109 J0d uorodLdsop eun ‘ounsdie 0)s00
urs ‘reuororodord epionoe 9jueoLIqey [q) -oueoLIqey oydIp Jod epediolo enueres ey

10d 0[0S 01191QND BIS? 019912 un 1od opeoLiqe) eas anb guesriqe; 19 1od opensiurwuns

-uod oye un ap OSdE[ un aqueInp

eAO0} k] 3p Joud)sod ajied e] ua
epesiqn :uoroeindwe ap ejanbig

eAj0) | ap sofo| odsend
K souew se| eBuajuely

W9 3N0 YNRIAVE
NOIOVLNdIY 30 09531

eAjo} B] 9p
Joudysod ayied
e] ua epesiqn
ISeIouajianpe
SseleA uod
apueub ejanbng

A dtas

oHovINadv

sejjinbioy sej|

ap ojuaiwinytedwod soj ud
epeaiqn :efiae|d ap ejanbng
"sefieaejuow [ap sejjinbioy

SE| U3 aljusnaus os oy anag

euiNbew &| 0pUBNd OIS NS Ua Jejse
U8qap SeliAe) se eloussApy

IVIONILHIAQY! W

ojonpoud o ezard ‘ojerede 1ombreny) '039 ‘soneIquI ‘OpUBW 9P SBUIPED ‘SBILIOD ‘SBILI}
seyun( ‘so[[as ‘03orju0d op sezoid ‘seyun( sey owod ‘unuwod )sedsap Jod sojqezedwdds
sezald se[ 9An[oxd BHURIES BIISINN "9JUBOLIQR] [9p BAISN[OXd pepljiqesuodsar e[ A
J0peIdwod [9p OAISN[OXD 0SINJAI [ BIOS JOLIJUE O "OIAUD dp eyodj e[ op Inied e ope)

[EULIOU 0SN 9P SAUOIIPUOD 0feq BIqO 9p OUBW B UD A

SO[BLIJEW SO U S0J09JOp op SaIqI ueIe)so sojonpoid sns onb eznuereS gjueouqey |4

epejIwI| ByuEIRD)

o2ljneapiy Jojow [9p epienb e|
op Joudjsod ajied e] us epeaign
:uoisaad ap ojund ap ejanbiyg

selbesiq ap A ojusiwirow us sezald se| ap
sefol o aysan ap sepuaid ‘sopl|os so}alqo ‘odia
-no [ap saued se| sepo} sepeld|e ebusjuep (¢

"OpUBUOIOUN; 9]S8 BUINbEL €] 0PUEND OjuBIW
-Inow ua sezald e| ap opefo|e asebugjue (z
SoueLl se| eaznposjul oN “ugisaid ap ojund (1

iYIONILYIAQY! W

ebieossap ap ejinboq
e] U3 epeoiqn jeulwial
uodej |9p ejanbn3z

‘leuiwnid) uodey
|9 uis euinbew
e| Jeuolouny
ebey eounN

OHOINad v

BoH 1noJ9 seuinbew se| us UQIOEDICGN/BIDUSIBAPE 3P SE)

9)10dos ap SO[IPOI SOf AIquIL))

S0S0M309§9p 9)10d0s op SO[IPOY

afd [0 ese1duy

UQIOBLIGN] 3P B2

e31eosop
op BISNFUBW B P OPUERIN BAJO) B[ JRII3 I90BY [IOIIP SH

uorsaid ap SauoTxaU0od J[eIsur d d1dwo))

SeOINEIPIY Seaul| se| ud ugrsaid e[ op uorop[NUNOY

ueproulod anb ered sopider sojusrejdwode sof siquie)

uaproulod ou sopider sojusruejdooe sog

"uorsaxd e[ 9p UQIOBINWINIE ¥
IB)IAQ 3 ULy B @S0 IN0ID) euInbyl B[ 9p OJUSIWUBUILW[E 3P SSUOIXAUOD
Se[ U0 seau]| e[ djudtueAdnu Je[dooe Uaqap oS ‘osn US LIS OU OpuEn))

JI0[eD |6 OpIqap
SEOINEIPIY Seaul| se] ud ugrsaid e[ op uoroR[NUUNOY

"SeIje BIORY A 9JUB[OP BIORY
021[NeIPIY [013U09 dp eouefed €] ASNW A (UQ) OPIPUIIUD Op uoIdISOd
B[ ©JSey dAR[[ ©] 2110) "B[[Inbioy op seS1eoejuow [3p Jojow [ anSedy

e[[mbioy op seSresejuot [op
OOI[NBIPIY BLISJSIS [0 US UQISId ] 9 UQIOB[NIINDY

sopidex
sojuore[dooe soj Is anuod 1e300u0d eied peinoyiq

©A[0} ] 9p Jouoisod ayred e] ud soffas ap oFan( [0 ooedwoay

UOIOBDLIN] AuLIOYNSUT U0 opeguojoid os)

eurnbew e[ op Jouwysod dred ef op uoSruioy ofes

BUALIR] B] AIqUIE))

BPE)SLSSOp BISO BUALIEQ BT

e[[mbioy op seSIEdBIUOW [0 US OJI[NEIPTY
Jonuod op eoueled e[ djue|op LIORY BYOTRW 3P UQIOISOd B B BASNIA!

SeI)e BIOBY OPUEBIS ©)SO BUOLIR] B

©3180SOp op BIONSUBW B[ d1qUIR))

epeuep 1sd eS1eosop op eronSuew e

BPEAJJD sew ugIdIsod eun ud BA[0} B] 2nboj0)

BPRIqOP BISO B318OSOp op BIONSuBW B

(oynurw Jod (sauofes z1) son| G4 B SOINUIW € O 7 U ISIBIOBA UDGIP
BAJO] BJ U3 BPLRYDA[ P (BIINO BPIRA 3P {7/€) SOIIQN SONW /G*()) "OWIUI
owod oynurw Jod (sauofes ) soni| ¢f0¢ 9p ©as opiny [2 anb oganidwo)

oroy1Io [3 Jod opny [9p opendapeur ofny{

ueprourod sopider sojuorwejdooe soj anb op asamSosy

0d1ngIpry ofiy [9p UOINISGO

Quotejud| B3IBISIP BA[O) BT

ueprourod sopider soyudruejdooe sof anb op asam3asy

0d1ngIpry ofiiy [9p UOINISGO

QUANOP 9s 0N A JUIWEIURIUSWOW BIIS BUALIR] ©]

e1onuew e ardwr|

BPINISQO ©FI8ISAP P BINTURIN

©A[0} B[ A1dwry

BAJO} B UD O[T

euaIIeq ey arduwny

BUIIRQ B] 9P JOPIPAI[E OPIOAMPUD UQSTuLIoy e

ueproutod sopider sojuarwejdooe sof anb op asaIFosy

0oI[EIPIY Ofng [3p UYIONLSIO

BIIS OU BUALIR] BT

ugrN[os AqIsoq

BSNEd J[qIsog

pud|qoLg

@S0H InoJx) vumnbyuw e 9p sewdqo.ad ap ugronjos e[ eied vino




p 02NN WO INOISZI MMM TLT6-LIH-008-1 uonetodio) ynoio 7z

7

— UO1S1A24 2,

a1uasa4d J2 DISDE] — /(00T 2P 21qnI20 2P 77 SO0

€

d0dlLSve - G/HON @O0H LNOYD

Bind ap 9}/g ap eue(d ejapuery | | §01-60 19
Bind op 915 8p ogno sp eOIANL | 7 912-60 99
olepunoss ajoaid uod ofouso spesy | | 6-Y-HdON g9
co_mw\_QEoo op aH0say I €18-60 9
Bind ap g/¢ op opioga 8p ouldd | Z 19€-60 €9
09]|neJply Jojow eded 10j08)01d ) €Z-HON 65
Ol 8P OYonpeD | | 6920 89
eJquiey ojuaiwedody | g 812-20 15
oyoew ojusiweldooy |z 612-20 9%
00l|neJpIy oJslulwns ap esanbuey | 22Y-HO [+
ouay [op EfiAe|o | 8p opejquiesu3 | | 0b~¥-HO 5
Bind p 91/ op ugisaid ap ejopUElY | ¥ 101-60 2§
ind z x g1~ Bind 8p 91,5 8p e0BNY EZOQED BP OJjUI0L | 8€€-60 4]
OIAI[e P EINAJgA U0O BidBInN | | 20920 1S
oolnespiy 10O | | 1720 05
Bind z/1 1 x9}- Bind 8p g/¢ 8p oused | ) 80€-60 6%
sonjodepieng | | Shivel 8y
lojow [epeoeld | | €1Y-HO Ly
(#0160 (8) ‘Gz-v-HO (1)
'202-60 (¥) ‘81-HO (1)
"LI-H9 (@) ‘9L i€l (€) ‘L2-HO (1)
'50€-60 (¥) ®Anjou)] seuousisod sojjes ap obenr | 9Z-V-HO o
m_ocwﬁoa ap w._w [ep J0josuo) l GZV-HD %14
81-6ind 8p 91/ op uojlu 8p EOJEMEAUOD | 20260 a4
JIo1I8)Xa 0]|8s [ap auodos ap " 1 81-HO 44
lopesedas ojjiuy |z LL-HD 144
ouejN 9P OJj9S | € 9Ll-€l Iy Bind g x Bind | ap g opeid ousad 12€-60
oulsjul oj|es |ep ®toaow ap Y l LT-HD 472 Eo>_n ap o,—otmo 1 LY-HON 9C
Bind op /| op eueid ejopuely | g 01-60 6¢ Bind | x 0z- Bind 8p /|, ep oused | € 10€-60 4
Bind z x g1-Bind ap 91/G ep oused | ¥ 0€-60 6¢ 0lo110 [op UgIoUB}el 8P BB | | 8-HON 44
enpL | ) V-HON 8¢ ofoue0 8p 8Osy | | 21860 €C | [Bind g x 91~ Bind ap g/¢ op Uy Uis ousdd | 9 6£€-60 €l
eAjo} e ap ouf ap elinel) | g €l-v-HON ¢ ||Bind g/g | x Bind ap %; op oljipos op Efinel) | Z 12460 ¢ ||9i-6indep g/ apepuqepeasen) | 9 12-60 4!
0c- Bind p ¢/}, op e2seNEJUOD | T 002-60 9 enpjejsp oilbopaseg | | 1-v-HON 12 | |Bind ap g/ op ugiseud ap ejepuesy | 9 204-60 Vil
Bind ¢ x oz- Bind ap 3 ap ouled | ¢ 88€-60 e eAojejap oslbap ugley | ¢ Li-HON 0z | |94~ Bind ap g/ op epespeno easenL | g 902-60 b
Bind op /¢ ap ugisaid op ejepuUELY | T €11-60 € || 94-6ind ap g/¢ 8p ug|u 8P BOIBNIELJUOD | 9| ¥02-60 6l euaLleq e| op ojqiaowal ogny | | LY-HON 0}
Bind z/1 | x Bind op p/¢ op g opeib ouisd | ¢ 62€-60 ¢e || Bindepyyl L xgl-Bindepgieepoused | ¥ 01£-60 8l Iopeojowai 8)sod | | 20102 9
ojuezjjsep sseg | | ZVHO z€ ewob op JopejnBes oosig | | 204°€) 1L | |Bind ap % ap ajqeqe ojjue uoo Jopesed| g 00¥-60 v§
Bind ep g/5 @p uoju 8p BOJBNEJUOD | ¢ 01260 1e uoialns ap eflue | | 004-02 Yol sajuezijssp sefinely |z 125-HO g
6ind ap v 2 x Bind p g/g ep owsad | ¢ 61€:60 08 | |esreasep %m%%mwcw_:wwwww_%%? ! 1ZYHD 9l topeiduwj ofided | 1 80411 ¥
eA3| O OjIpoY | 601-G} 62 elonbuew e| ap eiopezeiqy | g 0012} Sl PeploojoA ap enelT | | 9V-HO €
Bind | ap u 8p eaJanjeuod 3 €12-60 8¢ (Igep Bind ap 9171} 1) euiwue) uode jep ojjinbse) } Syl-Gl vyl eiopeselbus e|ojsid I 6LL-L)L ¢
Bind op 91/ op S|a1jEqE Ojjlue U JopESEd | T L0760 N1 ojjinbseo uoo [euluus) uode] | | ZL-Y-HoN 2 eualeg | | 0L-¥-HON b
NOIOdI¥OS3d QYAILNYQ VZ3Id 30 O4IWNNIOLNINTTT NOIOdI¥Os3d QvaILNYO|YZ3Id 30 O43WNNIOLNINI T NQIOdIYOs3a AvaILNY0VZ3Id 30 O43NNN(OLININITI




a1uasaid 1o DISDE — /()0 2P 24GN120 ap 77 GO() — UOISIA2L P 02w WO INOISZI MMM  TLZ6-LIH-008-1 uonerodio) ynoio 7y

‘(NNIT W) TLT6-L1-008

[e OpuBwWe[[ 2JULOLIQR] [9 U0 asonbrunwoos ‘sejonbne seaonu
Ioudqo ered ‘ojueyfej o epeuep ejonbno 1ombrens eAnnsns
‘sewrdp sof op e[ A pepLn3as ns 1od :e10UI)IIAPE Ip seyanbny

"7 £ 1 sosed so[ us eprusiqo ugroewIOUI €] dnbrpur

9 (NN'HA W) 7LT6-LTH-008 [e opueure[] uoperodio) ynorn 7y
u0d 0 @S0H INO0.ID AP [£00] JOPINGLISIP [ U0 dsanbrunwio)) *¢

-guouodwos [o A ©zard op orownu [0 anbynuopt ‘[enuew
0150 U0 epmour sezald op LIOUSISJOI AP B[qE) B 9P epnke B[ U0)) 7

‘@30H Inoan) eurnbew ns op Jorrdysod
o)red B] Op OUD2I9P JOLIDJUI OPE] [ U BIIUANOUD 3s onb o110s op
oJowmnu [9 uod ejonbno e[ ud 90a1ede onb ugroewojur gy o1do) |

:ojudrurpasoxd
9)s0 1In3as 9gop ‘@S0H IN0ao) ns ered sojsondar 10u)qo eIR]

sojsandai ap uoidualqo

"OLIBS90U $2 IS dIquIEd 0 21eday "0Sn BpEd Op SAJuE

91se3sop £ sojjons sourdd ‘sopeinsy einpep[os op sojund Ley 1S 1A
e1ed oseq e[ & ©AJ0} B[ ‘Oyoues |2 duorodadsur ‘enis eied oyoued
un uod opedmbs ©1so 15 *eumbyu ef 391N Inb zaA ewrxgad

e[ ofeqea) 9p [eLId)ew [3 Jeydurw epand anb ae)iAd eaed 9y
-uedriqny opeisewdp Inbijde oN :NOIDOAVITUL Bzordury

ns rejyoe} exed BAJO) B[ Op JOLIOYUI [0 US dJUILIQN] op EpeS[op
eded eun 1eo11dR BPUSTIIOIAI 3S ‘oSN Bped 9p sondso :VLON

"oJuareAInbs ns o gT-OO Idd
odn eseI3 201113 "osn eped ap sojue soropeydepe sof aserduy ‘g

(. ezordwrg,, UQIOIAS B BOA) OSN
eped op sondsop @30H Ino.an) eumnbew e[ serdury op 9som3osy |

ojuaiwiuadjuel

‘TeonIoA
uororsod ef & ©A]0) ] Jen3 eSey A oanbojq ap eliae[o e[ op o117, °§

‘oqny [9 U2 [eurtid) uode) 12 1800]09 B BAJONA “Brousjod op
alo [op 10300U00 [0 2IqOS OIS NS UD BUALIE] ] JEZI[SIP B BAJONA '/

‘erdwiny oponb onb ejsey eron3uew e[ ondenluy ‘9

“eUQIIEq B[ 9P UQIOONPUOD 3P
ope[ [op onuadp sordIpradsop sof sopoy Jerdw] op 952INISY BJON

‘Teuruizo) uode) [0 A eualieq e[ ‘eAJo) B[ ‘oqny [ J[1deo A aaeT °g

‘oqn}
[9p euaLreq e[ onbes £ vudlIeq ] 9p BSE [0 djudwouLy 919[ng ‘ep
-euoro1odold peprooaa op 9Ae[[ B[ U0 [eUIId) ugde) [2 aung) 4

‘eumbewr
] Je1dwr] op SO)UE AJUSOUWIIY EPLqeT} BAJ0} ] B3UQ) 03105 Jod
opeuorode 9joAld [op Jopesed [ anb op 0s2IN3ISY 1RIIUINIIAPY

"BAJO} B[ Je10eA BIed 9juead] A reanbojqsop ered
211 ‘orrepunods 0JoAld [9p 1opesed [op ese [9 djuowouly 9jong ¢

‘uoIoeIdqI[ Op 9310dos [0 21q0s Ienid eedey A BA[0) B]
op opeq [9 U? 2310s31 Jod epeUOIdOE 0anbOo[q Op BlIAR[D B Op AL T

*IOPJ01)21 9P SOJUE BUIPED B O SAJUBZI[SIP SelIAL[D

Se] 2I1)oy SedINEIPIY SEIONSUBW SB[ 9}09U0ISI(] ‘OPIPUIIUD [OP
oAe]] ] anbes £ e[[inbioy op sedresejuow [0 onJedy ‘opeoAru
0[aNS [0 U JIUIWIULY @SFOH Inoax) eumbew ey onbojo) ' |

ezaidwi

"BAJO} B] U [NWINOE 38
enge [0 anb 1ey1ad evied [euruiio) uode) [o uls ‘epeuroul ugrorsod ud
@SO0H IN0ID) eUINbEW B[ QUIJLWIE ‘OSN UD 9)SO OU OpUBN)) :BJON

"9JuQIeod [0s [0 ofeq oJuoweIduad d1no0 anb of

‘sezonguew se| ud ugIsaid e] op UQIOR[NWINIE B] JB)IAD SO PepI[RUY
©T "@S0H Inoao) eumnbew ] 9p 0JUSIWERUIILUI[E IP SOUOIXIUOD
Se| B SOPEJO2UOD SeII[NRIPIY SEIINSUBW SB[ 9P SOWAINXD SO U0I
B[opIens ‘osn ud BISe ou @SOH IN0.I) eurnbew €] opuen)) ‘g|
“BUDLIEQ B[ 9P UQIOB)OI

e[ ©3ud19p onb eyjmbioy op sedreoejuow [op ouerado [e anbipur
‘ope3uojoid odworn un ojueinp epeyos| op olny [0 1ouOp vIRd ]|
‘eron3uew ] an3ard o

91qop ‘epeyo9] e[ 9p ofny [0 duowesugjuSWIOW 19Udp eIed e31ed
-sop op eronJuew e 9)or1de ‘epeyoo] el op ofny 2 1em3a1 ered 0]
‘(6 18 G sosed sof ejdai ‘orresadau s9 1) “eAjo} e[ 039[dwod

10d Ie1oeA ©ISBY SEPRISIP SBAIR S| Ud BPRYII[ B] ondIedsa( ‘6
‘soorneIpy

SO[0TJUO0J SO AJUEBIPIW @SOH IN0IL) eUInNbew B[ Op BUSLIE] B[ O
QJUB[IpE BIOBY] UQIOBIOI B[ Je1otul eied SOOINBIPIY S9[0HU0D SO
ouorooe anb e[mbioy op sedieorjuow [9p Joperado [e anbipuy *g
“BPRYI9]

B[ Op UOID09AUI Op BAIR [ 21qOS B3Ie0Sop 9p eronduew e 9319/ng */
"BPRYOI] B[ OP UQIOOAUL 9P [QAIU [Op BWIOUS 10d 9JueAQ]

K opeasop Ie3n] |9 eisey @S0H Inoao eumnbew e] g1odsuel], -9

owrxew oyniq 0sad [0 9SIOPIOXI 9GP ON

QI $sop) B '6€81| (@I SS01) BIS8LY| SLHON
OwIXBW 0)NIq 0SdJ OIDBA Ud 0S9J | O[dPOIA

"BAJO) ] UQ OPIUUOD [BLIdJeW [ A

@80H Inoan) eumbew e[ op 0sad [0 rerrodos eied opeyasip 9159 od
-1nba 1o onb op osieinJose eied eni3 e] o g[[inbioy op seJieovjuowr
[op JuBILIQE] [OP SOUOIIBIYI0Adsd se| 9[nNsu0d :NOIDNVIHTId
“epeasop peproedes e eisey e[oug[ ‘ofons [0

ud duwy apanb anb opow op @30H INn0an eurnbew €] oanbojo) *g

"EPEUOIOOE BISA BIABPO) Opuew op eoueled €] opueno
u0j0q 12 9)ans Joperado [ onb op osed ud uoINSe [Op BpIed o9p pep
-111q1sod e[ JeurwI[o 9 pepIjeuy B [0)U0d op uomge [op Jouadns

9)ed e[ U9 BUALIRQ B[ 9P QJUBR[IPE BIORY UQIOR)OI B] OP PEPI[BIIIA
e[ 1eqoIdwoos op osomIose ‘(Jerjrxne OJINEBIPIY BW)SIS [0 JRUOIOOR
ered eoueed e] aOnW £ u0l0q [0 opeuoisald eJusjuewr Joperado

[0 anb e1ombar onb) ojdnnw uorouny op opuew op eouered eun
uoo e[[inbioy op seieovjuow un 21qos @SOH N1 euinbew

B[ JBSN [B :3)I9NW B[ 0 SUOISI[ IBIIAJ BIRJ :RIOUILIIAPY

“g[mbioy op seSredrjuow & @30H IN0ax) eumbew
] op opider ojudrwejdode op seorneIpry seronduew sef Aalng “f

"SEUOpEO Op SALIBUWIR UOD 0 0anbojq
op seliae[o uod se[aIn3ase A se[[Inbioy se[ op SeNIp ‘UQIOBAJ[D
Op SO[eUED SO AP 0IJUIP SAUBZI[SIP SBIIAL[O SB[ BOZNPOLU] "¢

"@S0H INo1o) eunbew €] op UQIOLAJ[S
op So[eUEd SO 9p ONUAP SeSresejuow [op se[[Mbioy se] a1 7

‘eumbew e[ reuorouny
J100RY 9P SAJUL UIWIULIY epeanbo[q BA[0] ] B3US) 9110531 Jod
opeuordde 9)0AId [op Jopesed [0 onb op 950IM3ISY 1RIOUIIIAPY

““TeonoA uordrsod ns & uoroIsod ] € BAJO) B] 11D |

ojualweuoIdun) ap SaUoIdINIISu|

sonurar ¢
Op SOUQW Ud BPBYOJ[ 9P (SepIek G/ ‘() Sonaw 49 () Ted1easop 9qop
K owndo o sa (seuoes z1) oynurw 1od soni ¢y ‘onurw Jod
(souored g1) soni| ¢'g9 dp owrxew un ered (1Sd 000€) B #89°0T
K oynurw Jod (souores §) soni| ¢o¢ op owrturw un ered (1S 0S€1)
BdY 80€‘6 op uorsaid eun a1ombar @30y Ino.as) eumbew e7)
‘s9juaIpu0dsaliod @S0H Inoeas) eurnbew v] 9p 0OI[NBIPIY BWA)SIS
19p sopider sojuarwejdooe soj e e[jmbioy op sediesejuow [9p
IeI[Ixne OdI[NeIPIY ewo)sIs [op sopider sojuarwe(dooe sof aydepy ¢

“BAJO] B[ B 9110521 Jod Opeuordde Joped[owal 93s0d [d J[[IUI0}Y |
afejuon



‘seordoosoorur sernonaed sef senyy ered sjuowresyroadse sepeuasip ojod [o ered
SeIedSeW OWod Sa[e) ‘sopeqoide peprngas ap sodmba so opuesn A ope[nuaA uaiq

wo9-3noibzeo'mmm 2090612 (0v2) :xed

2126-L1¥-008-1 O ZLGE-67L (0VL) :ouoy3|aL onis un ud dfeqen TYJNAIS :soorumb soonpoid s0jsa & ugiisodxa ap 03sou
98.G¥ OlyQ ‘piopiaje [0 1onpas exed “ofeqen ap odn 2183 ap UQIORZI[EAI 3P BIOUSNOAY B[ UNT3S BLIBA SO0

peoy UMOolId)ep SO -unb sojonpoid s03so & ugrorsodxa e & opiqap 03saul [ “odmunb ojusrwelen uod

uonesodiod nous 73 BIOPEBUW 9P OWOIO A 0JIUYSTE - BLID[IURQ[E 3P S030npoid 010 A 0JUSWdD - SO[[LIPY|

SO[ 9p ouI[eISLId d21[1s - owo]d op aseq uoo sexmuid se[ ud opruduod owojd :uos

’ soorunb sojonpoid s03sa op soun3[y “oanonpoidar ojerede [ ud sAUOISI[ Seno A

UD_'JE.'Dd.'DJ 2Nnoary g ”‘ ‘ SEJUQTUOD SOUOIdRULIOJ[BW 19ouLd Uadnpoid onb opeurtLo)ep ey 9s BIuIojIe)) 9p
7

wiaishs Rianyag 1no.ax ope)sa 19 ud anb soormurnb sojonpoid USULTUD UOIIINISUOD B AP SIPEPIATIOR SLIO

@ ‘ i‘ .H 1 n o .' g quenp A J)USWEIIURIIU JRIPR[R) TR[LISWSI TeyonLios Iefi] [e sepeioudd oajod op

se[nonJed seun3(e op sewope ‘sajuauodwiod sns op soung(e £ 10jow [9p 2deosa [q

69 eysandoad e[ Ip BIIUINIIAPY — BIWIOJI[R)) :BIIUII

"S9[BO0] A SO[BUOIORU ‘So[EjUoWIBUIOqNS
sojudwe[3al so[ Sopo} uod Jjdwno 9qop S0IX0}
SO[RLISIEW O SOPESN SAJULOLIGN] 3P OYI3SAP [ ‘1

‘@S0H Ino.ax) eumbew e[ Jezinn [e uddonpoid

os anb oajod £ adeoso op sosed sof rendsor 9)IAT "6
“eurnbew e[ Jerdwiy o Jesn op sojue

Epeqe]} 9JUSWIOWLIY BA[0) B] B3UQ) 9110521 Jod OpeuoIdoe
9j0A1d [op 10pesed [ anb op ardwars 9sam3osy g

‘UQIOBAQJ[Q 9p Ojerede
un owod @3S0H IN0.a5) eumbew B[ 99111 ON "(T

“eAJ0} B] BIQNO 9nb jeuorodo eqjifor eun

Iou9)qo op uy & uonea0dao)) Jnoas) 7 uod s
-onbrunwoo ‘93s9 © 0jUNSIp osn un eIed ‘opesiaod
-ns 0jowal anbuelIe 9p [01UOD UN UOD JRUOIOUN]
eied epeUSSIP BISO @S0 IN0an) eumbew B ‘6]

“eurnbew e[ op ojudrwraow ud sezard se|

op sekol o amsaa ap sepuaid ‘soprjos so3alqo ‘odrono [op
sayred sej sepo) sepelofe eusjueA ‘opuLUOIOUN] 9)SO
eumbew e[ opuend eudLeq e[ op opeloje oseSuue ‘/

"BPBUOIJOE JSO BIABPO) OPUBW dp BIUR[Rd B[ OpPURND U0J0q
[@ 9yjons Jopesodo [0 anb op oseo uo uornSe [op epred op
pepiiqisod e Jeurwifo s9 pepijeulj e ‘[0Ruod 9p uojinge
[op Joradns d)red B U BUALIEQ B] 9P QJUB[IPE BIOBY] UOIOE)
-01 B[ 9p PepI[eonIoA €] 1eqoidwod op asam3ose ‘(Jerrxne

‘@S0H IN0.I5) eumbew B[ US 0JUSTWIUIIUB
9p seare) Jezi[eal o Jeuorouny Jooey ered pepungos N
op soosed A (Vgp Z11) soplo sof ered sa10309101d l=2V
‘sepeqoide pepLn3os op sejesd axdwars 2011 Q| i

"OpINOUl QUOIA OJI[NBIPIY BUWISIS [d Teuordok eied voueed €] eAonw £ UQ)
1S ‘eni3 ] op oyoues [ 0 UQIOBA[S 9P SO[BURD SO] -0q [0 opeuorsaid e3ugjuew Joperado 19 anb eiombor anb)
10d 010 @S0H N0 eumbew B JULAIT "/ ordnnuwr uorouny op opuew op eouefed eun uod e[inbioy

op seSIedejuow UN 21qos @SOH IN0.IX) euinbew e[ Jesn [y

‘sepeuep uglsas anb sej siquue
pEyep 1 S19 ) 9)19NW B[ 0 SAUOISI] ITUIAI BIRJ :BIDUIIIAPY ‘9

“BpRUEP ]SO U $91100 ‘Seosonwl e3ud) eronguew
eunguru onb op 9som3ase ‘osn Bped 9p SAIUY ‘9| ‘Teuruizdy uodey [0 urs eunbew ] Jeuorouny eey eounN ‘g

4 g%

uedriqey P 1od sepezrioyne sezard 1NN 0[0S ‘G| ‘e[[mbioy op sedieo
-BJUOW UN 91qOS BPBIUOW 1S9 @SOH INo.1s) eumbew
e[ anb zoA eped peprLngas op Seudped o [queqe ofJIue

uo9 saropesed A sojuezi[sop sefiae[o asn axdwalg

*SOJUQWEOIPAW O SeF0Ip
JOY09]E [ap S0393J9 SO oleq 919 Pajsn SenUATW
@S0 Ino.ax) eumbew e[ uoo sleqer) eounyN ‘4|
owrrxegwr 0jniq 0sad [o 9SIOPAIXS 2qap ON

‘@S0H IN0.I5) - -

eumbgw e[ 01qos opejuow ooe[dsop os BoUNN ‘¢ (91 $50%) X €°6€81| (A SSOD) BAS8LY|  SLHON
e[ 9150 OpUENY @S M01n) OwIIXguw 0)NIq 083 OIDEA U3 059g | OPPON

eumbew e[ op ofeélsp anbojoo as vounN ‘71 ‘83180 op peproeded
-OJUBIWIIUBIUBW 9P BAIE} O UoIoeIedal Jombens B[ J9Pa0Xd ou 9p dsremn3ase vred e[mbioy op sedreoe)
IRZI[e21 9P SAJUE BWIASIS [d JRLIUD 25(] “2U[ED -UoW [P JUBILIE] [P SAUOIILOYI0adsd S| 9JNsu0)) “¢
OJI[NBIPIY OPINY [ WO 0JJLIUOD [ NIAY "] "@S80H INno.ax) eurnbew g op sopelofe
- SJUOWI[EIUSPIOOT ‘souru so[ & duowerdadse ‘sepezrioyne ou seuosiod
onbueie onb 183140 ered sesrnEIpIY SeIONSUBW se] & & opejioedes ou [euosiad [2 0poy € IUSUEIA "0)
Se| 9309u09sap £ e[[mbioy op sedieoeyuow [0 €3 -USIWERUOIOUNJ NS UJIQ BOZOUOD @30 IN0ID pUInbew
-u0)op ‘@30 In0axy eumbew v ud refeqen) op e[ ofouew anb euosiad 1ombiens anb op asam3osy ‘¢
SAJUY "OpuruOoIdUN) 1S9 Senuaru @30H moan ‘osn 0o ur)ﬁu!u evied OpBU3SIP IS Oou
eumbew ] 21qos oleqen unduru 30181 BOUNN ()| £ [PLISTRW Op BSIRISIP P BWAISIS UN SO @S0 IN0IL)

SYIONILIIAAQVY YV

ouLie}aidoad j9p jenue
@BOH 3noug |ydn

.QUQS Sp O.IQIIH}N SLHan

‘@30 Ino1n vumbpw el 1esn g
op sojue ourejardoid [op [enuewr | [ T1)

[0 QJUOWIEPIUSIOP ISIAAI A B




	Uphill Grout Hog® Manual Rev. 005.pdf
	090133_Uphill Grout Hog Manual_LASp_high-res

